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     <span class='ocr_line' id='line_1_10' title="bbox 415 733 1515 777; baseline 0.004 -12; x_size 40; x_descenders 8; x_ascenders 9"><span class='ocrx_word' id='word_1_37' title='bbox 415 733 483 765; x_wconf 88'>Het</span> <span class='ocrx_word' id='word_1_38' title='bbox 495 734 1018 775; x_wconf 84'>ontwerpbestemmingsplan</span> <span class='ocrx_word' id='word_1_39' title='bbox 1030 735 1134 768; x_wconf 85'>heeft</span> <span class='ocrx_word' id='word_1_40' title='bbox 1146 736 1333 777; x_wconf 89'>terinzage</span> <span class='ocrx_word'
id='word_1_41' title='bbox 1345 736 1515 777; x_wconf 89'>gelegen.</span>
     </span>
    </p>

    <p class='ocr_par' id='par_1_9' lang='nld' title="bbox 414 794 2040 1021">
     <span class='ocr_line' id='line_1_11' title="bbox 416 794 2025 839; baseline 0.002 -13; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_42' title='bbox 416 794 482 826; x_wconf 90'>Het</span> <span class='ocrx_word' id='word_1_43' title='bbox 495 795 1016 836; x_wconf 85'>ontwerpbestemmingsplan</span> <span class='ocrx_word' id='word_1_44' title='bbox 1030 796 1132 829; x_wconf 83'>heeft</span> <span class='ocrx_word' id='word_1_45' title='bbox 1142 806 1207 829; x_wconf 93'>van</span> <span class='ocrx_word' id='word_1_46'
title='bbox 1219 797 1255 829; x_wconf 88'>15</span> <span class='ocrx_word' id='word_1_47' title='bbox 1268 797 1474 830; x_wconf 89'>december</span> <span class='ocrx_word' id='word_1_48' title='bbox 1484 798 1585 830; x_wconf 81'>2023</span> <span class='ocrx_word' id='word_1_49' title='bbox 1597 802 1652 830; x_wconf 92'>tot</span> <span class='ocrx_word' id='word_1_50' title='bbox 1665 798 1844 839; x_wconf 90'>27januari</span> <span class='ocrx_word' id='word_1_51' title='bbox 1857 798 1959 830; x_wconf 86'>2024</span> <span class='ocrx_word'
id='word_1_52' title='bbox 1970 802 2025 831; x_wconf 93'>ter</span>
     </span>
     <span class='ocr_line' id='line_1_12' title="bbox 416 855 2040 900; baseline 0.003 -13; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_53' title='bbox 416 855 538 896; x_wconf 91'>inzage</span> <span class='ocrx_word' id='word_1_54' title='bbox 551 855 720 896; x_wconf 90'>gelegen.</span> <span class='ocrx_word' id='word_1_55' title='bbox 733 856 869 897; x_wconf 87'>Tijdens</span> <span class='ocrx_word' id='word_1_56' title='bbox 882 857 974 889; x_wconf 91'>deze</span> <span class='ocrx_word' id='word_1_57' title='bbox 987 858
1139 897; x_wconf 92'>periode</span> <span class='ocrx_word' id='word_1_58' title='bbox 1152 858 1176 890; x_wconf 91'>is</span> <span class='ocrx_word' id='word_1_59' title='bbox 1190 858 1361 891; x_wconf 92'>iedereen</span> <span class='ocrx_word' id='word_1_60' title='bbox 1374 859 1401 890; x_wconf 90'>in</span> <span class='ocrx_word' id='word_1_61' title='bbox 1415 859 1462 891; x_wconf 92'>de</span> <span class='ocrx_word' id='word_1_62' title='bbox 1475 859 1722 899; x_wconf 87'>gelegenheid</span> <span class='ocrx_word' id='word_1_63' title='bbox
1735 859 1884 900; x_wconf 88'>gesteld</span> <span class='ocrx_word' id='word_1_64' title='bbox 1897 868 1958 891; x_wconf 95'>om</span> <span class='ocrx_word' id='word_1_65' title='bbox 1970 868 2040 892; x_wconf 93'>een</span>
     </span>
     <span class='ocr_line' id='line_1_13' title="bbox 414 916 2006 961; baseline 0.003 -13; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_66' title='bbox 414 916 604 957; x_wconf 88'>zienswijze</span> <span class='ocrx_word' id='word_1_67' title='bbox 616 917 644 948; x_wconf 90'>in</span> <span class='ocrx_word' id='word_1_68' title='bbox 656 921 693 949; x_wconf 94'>te</span> <span class='ocrx_word' id='word_1_69' title='bbox 706 917 847 950; x_wconf 91'>dienen.</span> <span class='ocrx_word' id='word_1_70' title='bbox 863 918 913
950; x_wconf 95'>De</span> <span class='ocrx_word' id='word_1_71' title='bbox 926 919 1196 951; x_wconf 89'>omwonenden</span> <span class='ocrx_word' id='word_1_72' title='bbox 1209 919 1353 951; x_wconf 86'>stelden</span> <span class='ocrx_word' id='word_1_73' title='bbox 1364 920 1413 960; x_wconf 91'>wij</span> <span class='ocrx_word' id='word_1_74' title='bbox 1426 929 1489 960; x_wconf 92'>per</span> <span class='ocrx_word' id='word_1_75' title='bbox 1500 920 1589 952; x_wconf 83'>brief</span> <span class='ocrx_word' id='word_1_76' title='bbox 1601
929 1650 960; x_wconf 92'>op</span> <span class='ocrx_word' id='word_1_77' title='bbox 1663 920 1711 952; x_wconf 95'>de</span> <span class='ocrx_word' id='word_1_78' title='bbox 1724 920 1867 961; x_wconf 88'>hoogte</span> <span class='ocrx_word' id='word_1_79' title='bbox 1878 929 1944 952; x_wconf 92'>van</span> <span class='ocrx_word' id='word_1_80' title='bbox 1957 920 2006 953; x_wconf 92'>de</span>
     </span>
     <span class='ocr_line' id='line_1_14' title="bbox 414 977 1440 1021; baseline 0.004 -13; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_81' title='bbox 414 977 754 1018; x_wconf 89'>terinzagelegging.</span> <span class='ocrx_word' id='word_1_82' title='bbox 770 978 872 1019; x_wconf 90'>Erzijn</span> <span class='ocrx_word' id='word_1_83' title='bbox 885 987 982 1019; x_wconf 92'>geen</span> <span class='ocrx_word' id='word_1_84' title='bbox 994 979 1209 1020; x_wconf 88'>zienswijzen</span> <span class='ocrx_word' id='word_1_85'
title='bbox 1222 984 1440 1021; x_wconf 91'>ontvangen.</span>
     </span>
    </p>
   </div>
   <div class='ocr_carea' id='block_1_9' title="bbox 412 1099 2151 1505">
    <p class='ocr_par' id='par_1_10' lang='nld' title="bbox 412 1099 2093 1200">
     <span class='ocr_line' id='line_1_15' title="bbox 415 1099 2093 1143; baseline 0.003 -13; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_86' title='bbox 415 1099 472 1139; x_wconf 92'>Op</span> <span class='ocrx_word' id='word_1_87' title='bbox 485 1099 602 1139; x_wconf 89'>grond</span> <span class='ocrx_word' id='word_1_88' title='bbox 612 1108 677 1131; x_wconf 91'>van</span> <span class='ocrx_word' id='word_1_89' title='bbox 688 1099 750 1132; x_wconf 87'>het</span> <span class='ocrx_word' id='word_1_90' title='bbox 761
1100 894 1132; x_wconf 89'>Besluit</span> <span class='ocrx_word' id='word_1_91' title='bbox 904 1101 1105 1142; x_wconf 84'>ruimtelijke</span> <span class='ocrx_word' id='word_1_92' title='bbox 1118 1102 1292 1142; x_wconf 88'>ordening</span> <span class='ocrx_word' id='word_1_93' title='bbox 1304 1102 1436 1134; x_wconf 91'>dienen</span> <span class='ocrx_word' id='word_1_94' title='bbox 1448 1103 1498 1143; x_wconf 88'>wij</span> <span class='ocrx_word' id='word_1_95' title='bbox 1508 1102 1655 1143; x_wconf 89'>overleg</span> <span class='ocrx_word'
id='word_1_96' title='bbox 1667 1107 1704 1135; x_wconf 91'>te</span> <span class='ocrx_word' id='word_1_97' title='bbox 1716 1112 1851 1135; x_wconf 91'>voeren</span> <span class='ocrx_word' id='word_1_98' title='bbox 1863 1107 1940 1135; x_wconf 88'>met</span> <span class='ocrx_word' id='word_1_99' title='bbox 1951 1103 2093 1136; x_wconf 85'>diverse</span>
     </span>
     <span class='ocr_line' id='line_1_16' title="bbox 412 1164 583 1200; baseline 0.006 -9; x_size 42.411564; x_descenders 9.4115648; x_ascenders 9.5"><span class='ocrx_word' id='word_1_100' title='bbox 412 1164 583 1200; x_wconf 90'>partners.</span>
     </span>
    </p>

    <p class='ocr_par' id='par_1_11' lang='nld' title="bbox 413 1220 2151 1505">
     <span class='ocr_line' id='line_1_17' title="bbox 415 1220 2060 1266; baseline 0.002 -14; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_101' title='bbox 415 1221 465 1252; x_wconf 96'>De</span> <span class='ocrx_word' id='word_1_102' title='bbox 477 1220 789 1261; x_wconf 91'>overlegpartners</span> <span class='ocrx_word' id='word_1_103' title='bbox 801 1221 951 1254; x_wconf 89'>hebben</span> <span class='ocrx_word' id='word_1_104' title='bbox 963 1223 1021 1263; x_wconf 96'>wij,</span> <span class='ocrx_word'
id='word_1_105' title='bbox 1035 1232 1085 1263; x_wconf 94'>op</span> <span class='ocrx_word' id='word_1_106' title='bbox 1097 1223 1212 1263; x_wconf 91'>grond</span> <span class='ocrx_word' id='word_1_107' title='bbox 1223 1232 1288 1255; x_wconf 91'>van</span> <span class='ocrx_word' id='word_1_108' title='bbox 1301 1224 1417 1256; x_wconf 90'>artikel</span> <span class='ocrx_word' id='word_1_109' title='bbox 1430 1224 1516 1256; x_wconf 77'>3.1.1.</span> <span class='ocrx_word' id='word_1_110' title='bbox 1531 1224 1660 1256; x_wconf
88'>Besluit</span> <span class='ocrx_word' id='word_1_111' title='bbox 1672 1224 1872 1265; x_wconf 91'>ruimtelijke</span> <span class='ocrx_word' id='word_1_112' title='bbox 1885 1224 2060 1266; x_wconf 91'>ordening</span>
     </span>
     <span class='ocr_line' id='line_1_18' title="bbox 413 1281 1661 1325; baseline 0.003 -12; x_size 40; x_descenders 8; x_ascenders 9"><span class='ocrx_word' id='word_1_113' title='bbox 413 1282 513 1319; x_wconf 87'>(Bro),</span> <span class='ocrx_word' id='word_1_114' title='bbox 526 1282 554 1313; x_wconf 91'>in</span> <span class='ocrx_word' id='word_1_115' title='bbox 567 1281 614 1314; x_wconf 93'>de</span> <span class='ocrx_word' id='word_1_116' title='bbox 627 1282 874 1323; x_wconf 90'>gelegenheid</span> <span class='ocrx_word' id='word_1_117'
title='bbox 887 1283 1035 1323; x_wconf 89'>gesteld</span> <span class='ocrx_word' id='word_1_118' title='bbox 1048 1293 1108 1316; x_wconf 96'>om</span> <span class='ocrx_word' id='word_1_119' title='bbox 1120 1284 1244 1316; x_wconf 88'>advies</span> <span class='ocrx_word' id='word_1_120' title='bbox 1257 1285 1301 1316; x_wconf 94'>uit</span> <span class='ocrx_word' id='word_1_121' title='bbox 1312 1288 1350 1316; x_wconf 96'>te</span> <span class='ocrx_word' id='word_1_122' title='bbox 1362 1284 1526 1325; x_wconf 90'>brengen</span> <span
class='ocrx_word' id='word_1_123' title='bbox 1538 1294 1588 1325; x_wconf 94'>op</span> <span class='ocrx_word' id='word_1_124' title='bbox 1601 1285 1661 1317; x_wconf 90'>het</span>
     </span>
     <span class='ocr_line' id='line_1_19' title="bbox 413 1342 2151 1388; baseline 0.003 -14; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_125' title='bbox 413 1342 945 1384; x_wconf 89'>ontwerpbestemmingsplan.</span> <span class='ocrx_word' id='word_1_126' title='bbox 961 1345 1008 1376; x_wconf 92'>Na</span> <span class='ocrx_word' id='word_1_127' title='bbox 1021 1345 1241 1386; x_wconf 89'>vaststelling</span> <span class='ocrx_word' id='word_1_128' title='bbox 1253 1354 1318 1377; x_wconf 91'>van</span> <span
class='ocrx_word' id='word_1_129' title='bbox 1331 1345 1392 1377; x_wconf 91'>het</span> <span class='ocrx_word' id='word_1_130' title='bbox 1404 1346 1928 1387; x_wconf 89'>ontwerpbestemmingsplan</span> <span class='ocrx_word' id='word_1_131' title='bbox 1942 1346 2091 1379; x_wconf 91'>hebben</span> <span class='ocrx_word' id='word_1_132' title='bbox 2103 1348 2151 1388; x_wconf 94'>wij</span>
     </span>
     <span class='ocr_line' id='line_1_20' title="bbox 414 1403 2084 1447; baseline 0.002 -12; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_133' title='bbox 414 1403 561 1435; x_wconf 90'>hebben</span> <span class='ocrx_word' id='word_1_134' title='bbox 572 1412 637 1435; x_wconf 93'>van</span> <span class='ocrx_word' id='word_1_135' title='bbox 650 1404 698 1436; x_wconf 92'>de</span> <span class='ocrx_word' id='word_1_136' title='bbox 711 1405 1053 1445; x_wconf 89'>omgevingsdienst</span> <span class='ocrx_word'
id='word_1_137' title='bbox 1065 1415 1135 1438; x_wconf 92'>een</span> <span class='ocrx_word' id='word_1_138' title='bbox 1148 1406 1411 1439; x_wconf 90'>adviesreactie</span> <span class='ocrx_word' id='word_1_139' title='bbox 1424 1411 1643 1447; x_wconf 84'>ontvangen,</span> <span class='ocrx_word' id='word_1_140' title='bbox 1657 1407 1749 1439; x_wconf 91'>deze</span> <span class='ocrx_word' id='word_1_141' title='bbox 1762 1407 1787 1439; x_wconf 92'>is</span> <span class='ocrx_word' id='word_1_142' title='bbox 1798 1407 1970 1439; x_wconf
93'>verwerkt</span> <span class='ocrx_word' id='word_1_143' title='bbox 1983 1408 2010 1439; x_wconf 96'>in</span> <span class='ocrx_word' id='word_1_144' title='bbox 2024 1408 2084 1440; x_wconf 93'>het</span>
     </span>
     <span class='ocr_line' id='line_1_21' title="bbox 413 1463 776 1505; baseline 0.003 -10; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_145' title='bbox 413 1463 776 1505; x_wconf 90'>bestemmingsplan.</span>
     </span>
    </p>
   </div>
   <div class='ocr_carea' id='block_1_10' title="bbox 410 1585 2102 1810">
    <p class='ocr_par' id='par_1_12' lang='nld' title="bbox 412 1585 2022 1630">
     <span class='ocr_line' id='line_1_22' title="bbox 412 1585 2022 1630; baseline 0.004 -14; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_146' title='bbox 412 1585 464 1617; x_wconf 90'>De</span> <span class='ocrx_word' id='word_1_147' title='bbox 476 1586 670 1626; x_wconf 86'>uitvoering</span> <span class='ocrx_word' id='word_1_148' title='bbox 682 1595 746 1618; x_wconf 94'>van</span> <span class='ocrx_word' id='word_1_149' title='bbox 757 1586 820 1618; x_wconf 85'>het</span> <span class='ocrx_word' id='word_1_150'
title='bbox 831 1586 1188 1628; x_wconf 85'>bestemmingsplan</span> <span class='ocrx_word' id='word_1_151' title='bbox 1203 1589 1280 1620; x_wconf 78'>&#39;Het</span> <span class='ocrx_word' id='word_1_152' title='bbox 1290 1588 1378 1621; x_wconf 85'>Slot&#39;</span> <span class='ocrx_word' id='word_1_153' title='bbox 1389 1589 1520 1629; x_wconf 87'>draagt</span> <span class='ocrx_word' id='word_1_154' title='bbox 1530 1589 1651 1629; x_wconf 88'>bíjaan</span> <span class='ocrx_word' id='word_1_155' title='bbox 1664 1589 1712 1621; x_wconf
91'>de</span> <span class='ocrx_word' id='word_1_156' title='bbox 1725 1590 2022 1630; x_wconf 91'>woningopgave</span>
     </span>
    </p>

    <p class='ocr_par' id='par_1_13' lang='nld' title="bbox 410 1646 2102 1810">
     <span class='ocr_line' id='line_1_23' title="bbox 413 1646 2102 1691; baseline 0.003 -14; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_157' title='bbox 413 1646 448 1677; x_wconf 91'>Er</span> <span class='ocrx_word' id='word_1_158' title='bbox 459 1646 484 1678; x_wconf 94'>is</span> <span class='ocrx_word' id='word_1_159' title='bbox 496 1655 565 1678; x_wconf 93'>een</span> <span class='ocrx_word' id='word_1_160' title='bbox 577 1646 695 1679; x_wconf 92'>tekort</span> <span class='ocrx_word' id='word_1_161' title='bbox 707
1656 773 1679; x_wconf 92'>aan</span> <span class='ocrx_word' id='word_1_162' title='bbox 784 1648 976 1688; x_wconf 92'>woningen</span> <span class='ocrx_word' id='word_1_163' title='bbox 989 1649 1017 1680; x_wconf 96'>in</span> <span class='ocrx_word' id='word_1_164' title='bbox 1030 1648 1078 1681; x_wconf 93'>de</span> <span class='ocrx_word' id='word_1_165' title='bbox 1091 1653 1293 1689; x_wconf 89'>gemeente</span> <span class='ocrx_word' id='word_1_166' title='bbox 1307 1649 1532 1682; x_wconf 87'>Medemblik.</span> <span class='ocrx_word'
id='word_1_167' title='bbox 1547 1650 1598 1681; x_wconf 89'>Dit</span> <span class='ocrx_word' id='word_1_168' title='bbox 1609 1650 2011 1691; x_wconf 91'>woningbouwproject</span> <span class='ocrx_word' id='word_1_169' title='bbox 2025 1651 2102 1683; x_wconf 71'>“Het</span>
     </span>
     <span class='ocr_line' id='line_1_24' title="bbox 412 1706 1840 1751; baseline 0.003 -13; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_170' title='bbox 412 1706 496 1738; x_wconf 73'>SlotJ</span> <span class='ocrx_word' id='word_1_171' title='bbox 509 1706 637 1747; x_wconf 90'>draagt</span> <span class='ocrx_word' id='word_1_172' title='bbox 650 1707 691 1748; x_wconf 95'>bij</span> <span class='ocrx_word' id='word_1_173' title='bbox 703 1716 769 1739; x_wconf 92'>aan</span> <span class='ocrx_word' id='word_1_174' title='bbox
782 1707 875 1740; x_wconf 90'>deze</span> <span class='ocrx_word' id='word_1_175' title='bbox 888 1717 1037 1749; x_wconf 93'>opgave</span> <span class='ocrx_word' id='word_1_176' title='bbox 1050 1709 1208 1741; x_wconf 93'>doordat</span> <span class='ocrx_word' id='word_1_177' title='bbox 1221 1718 1257 1741; x_wconf 93'>er</span> <span class='ocrx_word' id='word_1_178' title='bbox 1268 1710 1449 1742; x_wconf 87'>maximaal</span> <span class='ocrx_word' id='word_1_179' title='bbox 1462 1710 1496 1742; x_wconf 79'>31</span> <span
class='ocrx_word' id='word_1_180' title='bbox 1509 1711 1699 1751; x_wconf 91'>woningen</span> <span class='ocrx_word' id='word_1_181' title='bbox 1712 1719 1779 1742; x_wconf 93'>aan</span> <span class='ocrx_word' id='word_1_182' title='bbox 1792 1710 1840 1742; x_wconf 93'>de</span>
     </span>
     <span class='ocr_line' id='line_1_25' title="bbox 410 1768 1161 1810; baseline 0.004 -11; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_183' title='bbox 410 1768 730 1808; x_wconf 91'>woningvoorraad</span> <span class='ocrx_word' id='word_1_184' title='bbox 742 1768 889 1801; x_wconf 93'>worden</span> <span class='ocrx_word' id='word_1_185' title='bbox 902 1770 1161 1810; x_wconf 73'>toegevoegd.</span>
     </span>
    </p>
   </div>
   <div class='ocr_carea' id='block_1_11' title="bbox 409 1889 2122 2173">
    <p class='ocr_par' id='par_1_14' lang='nld' title="bbox 411 1889 1889 1934">
     <span class='ocr_line' id='line_1_26' title="bbox 411 1889 1889 1934; baseline 0.003 -14; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_186' title='bbox 411 1889 479 1921; x_wconf 91'>Het</span> <span class='ocrx_word' id='word_1_187' title='bbox 491 1889 1014 1931; x_wconf 89'>ontwerpbestemmingsplan</span> <span class='ocrx_word' id='word_1_188' title='bbox 1027 1891 1179 1924; x_wconf 88'>bevatte</span> <span class='ocrx_word' id='word_1_189' title='bbox 1190 1901 1265 1933; x_wconf 87'>nog</span> <span
class='ocrx_word' id='word_1_190' title='bbox 1277 1892 1405 1924; x_wconf 92'>enkele</span> <span class='ocrx_word' id='word_1_191' title='bbox 1419 1893 1731 1933; x_wconf 88'>ondergeschikte</span> <span class='ocrx_word' id='word_1_192' title='bbox 1743 1893 1889 1934; x_wconf 83'>foutjes.</span>
     </span>
    </p>

    <p class='ocr_par' id='par_1_15' lang='nld' title="bbox 409 1949 2122 2173">
     <span class='ocr_line' id='line_1_27' title="bbox 412 1949 2122 1995; baseline 0.002 -14; x_size 41; x_descenders 9; x_ascenders 9"><span class='ocrx_word' id='word_1_193' title='bbox 412 1949 480 1981; x_wconf 89'>Om</span> <span class='ocrx_word' id='word_1_194' title='bbox 492 1949 540 1981; x_wconf 95'>de</span> <span class='ocrx_word' id='word_1_195' title='bbox 553 1949 829 1991; x_wconf 92'>planologische</span> <span class='ocrx_word' id='word_1_196' title='bbox 842 1951 1049 1991; x_wconf 93'>procedure</span> <span class='ocrx_word'
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